Social Stratification - Practice 12 Markers

e Discuss how far sociologists agree that social class rather than gender or ethnicity is the most important
division in British society.

SAM 1 e Discuss how far sociologists agree that a breakdown of the traditional family is one of the most important

reasons that child poverty exists in modern British society.

e Discuss how far sociologists agree that official statistics underestimate the actual level of poverty in society.

SAM 2 e Discuss how far sociologists agree that Britain is a meritocratic society in which everyone has equal
opportunities to succeed.

e Discuss how far sociologists would agree that a glass ceiling for women still exists in British society.

2019 e Discuss how far sociologists would agree that the welfare state has helped to create a culture of dependency
amongst some groups in Britain.

e Discuss how far sociologists would agree that society will always be unequal.

2020 . . . . . o
e Discuss how far sociologists would agree that poverty remains an issue in Britain today.
e Discuss how far sociologists would agree that social class is the most important factor affecting an individual’s
life chances.
2021
e Discuss how far sociologists would agree that capitalism exploits certain groups in society.
e Discuss how far sociologists would agree that Britain today is a meritocracy.
2022 . . . . .
e Discuss how far sociologists would agree that the welfare state has been successful in reducing poverty.
e Discuss how far sociologists would agree that the welfare state creates an underclass.
2023

e Discuss how far sociologists would agree that patriarchy continues to exist in modern British society.
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